2 BRETEUBH O EE

(1) &7 VT 7 - =2 f5Ee (Fi7E)

O HEEFhLT LT 7 - &X—HX G BN . —
S I E Al S I E il
I E Hi S 44 A FOME | ol T 7E Hh S 44 A FoE | Bl
4 1 * 3.3 4 1 ¢ 3.0
5 A * 3.1 5 A ¢ 3.0
6 1 * 3.3 6H | 2.2 3.3
7H * 3.5 7H ¢ 3.0
8 A * 3.8 8 A * 3.1
R 9 A s 3.5 BRI T 9 A * 3.1
HiD 10 A * 4.4 PN 10 A * 3.0
11H| 25 3.3 1A | 2.3 2.9
128 2.6 3.3 12H ] 2.3 3.0
1A| 2.9 3.3 17| 2.3 3.1
21| 2.6 3.2 281 2.3 3.0
3| 2.5 3.3 3| 2.2 3.1
4 1 * 2.9 4 A * 3.1
51 * 2.8 5 A * 3.8
6| 2.2 3.0 63| 2.2 3.3
7H * 2.9 7H *¢ 3.2
8 A * 3.0 8 A * 3.8
VR T 9 H * 3.1 oz JE 9 H * 3.3
T 10 A * 3.0 HEE S5 /N 10 A ¢ 3.1
1H| 22 2.9 1A | 2.3 3.2
128 | 2.3 3.0 128 ] 2.3 3.2
1A | 2.2 3.1 17| 2.3 3.2
21| 2.3 3.0 2/ | 2.4 3.1
3| 2.2 2.9 3| 2.2 3.3
4 1 * 3.2
54 * 3.4
6 1 * 3.0
7H * 3.2
8 A * 3.2
VR T 9 H * 3.1
b 10 H * 3.2
1A | 24 3.2
128 ] 2.3 3.1
1A 2.9 3.1
2H | 2.0 3.1
3A| 2.4 3.0

A1) T 4, TLTD : BRSO 23R
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©Q HEETOE—ZBUNEE

HLAL : Bg/m’

- T E fiE s T A
I E Hit S 44 A o |l I 7E Hh 4 A YN
4 A *!) 6.3 4 A * 4.5
5 H * 7.4 54 * 6.1
6 H * 7.8 6 74 | 0.080 6.8
7H * 6.6 7H * 5.0
8 A s 10 8 A * 7.3
AENRITIRE 7 9 A * 8.0 VR T 9 H * 5.4
B 10 A * 10 EREHNEE 10 A s 7.2
11 4 0.70 9.4 11 A | 0.52 5.6
12 A 0.27 9.8 128 | 0.25 6.2
1A 0. 34 9.2 1A | 0.39 6.6
2 A 0. 35 9.6 2H | 0.32 6.2
3 H 0. 44 9.2 3H | 0.51 6.3
4 A * 5.7 4 A * 4.4
5 H * 6.6 5A4 * 6.6
6 H | 0.078 7.0 67| 0.10 7.2
7H * 5.1 7A * 5.5
8 H * 8. 4 8 A * 8.2
VR T 9 H * 7.4 Yoz s 9 H * 5.0
T 10 A * 8.3 HUGE 7 /N 10 H * 7.4
11 A 0.70 8.3 11 7| o0.61 6.5
12 A 0. 26 9.2 128 | 0.26 8.1
1A 0. 32 8.9 1A | 0.36 6.8
2 A 0.31 9.1 2H | 0.33 6.4
3 H 0. 40 8. 4 3H | 0.50 7.4
4 H * 5.6
54 * 6.6
6 H * 7.5
7 H * 5.7
8 H * 8.9
ENAITIRT 7 9 H * 5.8
V55 10 A * 8.2
11 H 0. 57 6.7
12 A 0.28 6.4
1A 0.38 7.7
2 A 0. 35 7.4
3 H 0. 49 7.2
AL Txpogx, TLTD : BHIRARG ) 237,

41




@ REERT 6 RO E~—Z 6

HLAL : Bg/m’

- T E A N T fiE
) E Hh A 4 H I | el HE HLS 4 H RN EE—
4 A *!) 0.26 4 A * 0.12
5 H * 0.28 5H * 0.18
6 H * 0.25 6 A * 0.11
7H * 0.28 7H * 0.21
8 H * 0.26 8 A * 0.25
EVRITIRY T 9 H * 0.18 TR IG T3 9 A * 0.11
H b 10 B * 0. 20 EBEUNE 10 B * 0. 096
11 A * 0.18 11 A * 0.077
12 A * 0.22 12 A * 0. 088
1A * 0.20 1A * 0. 063
2 A * 0.28 2 A * 0. 085
3 A * 0.26 3 H * 0.11
4 H * 0.17 4 A * 0.17
5 H * 0.19 5H * 0.26
6 H * 0. 14 6 A * 0.17
7H * 0.18 7H * 0.18
8 H * 0.20 8 A * 0.22
ENRITIRT 7 9 A * 0. 14 Yoz IR 9 A * 0.15
T 10 H * 0.17 HUSE ST /NFAR 10 A * 0.18
11 A * 0.13 11 A * 0.15
12 A * 0.19 12 A * 0.24
1A * 0.20 1A * 0.19
2 A * 0.25 2 A * 0.24
3 A * 0.25 3 H * 0.16
4 H * 0.12
5 H * 0.17
6 H * 0.16
7H * 0. 22
8 H * 0.20
FENRITIRT T 9 A * 0.16
55 10 H * 0.12
11 A * 0.11
12 A * 0.14
1A * 0.13
2 A * 0.12
3 H * 0.13

A1) T 4, TLTD : BRSO 23R
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(2) K&

TSR (U~ R )

@O il

HEANT : mBg/m?

PRI A4 BRI ]

o
kY

=

=)

95Nb

13/1CS

137CS

1/1/1Ce

28%F4H 1 B~28% 5 H1H

*

*

*

*

*

2845 H2H~284 5 H 31 H

2846 H 1 H~284 6 H 30 H

28 T7TH 1 H~284 7H 31 H

2848 H 1 H~284 8 H 31 H

HIRTAT | 28429 41 H~284 10 H 2 H

B R

284210 A 3 H~284-10 A 31 H

284F 11 H 1 H~284-11 H 30 H

2812 1 H~294 1 A 3 H

291 H4H~29%1H 31 H

292 H 1 H~2942H 28 H

29F3H1H~29%4H2H

284F4 H 1 H~284 5 H1H

2845 H 2 H~284 5 4 31 H

2846 H 1 H~284 6 H 30 H

28T H 1 H~284 7 H 31 H

28428 H 1 H~284 8 H 31 H

HIRMAT | 28429 H 1 H~284 10 H 2 H

HoOET

284210 H 3 H~284-10 A 31 H

284F 11 H 1 H~284-11 H 30 H

2812 1 H~294 1 4 3 H

291 H4H~29%1H 31 H

292 H1H~2942H 28 H

29F3H1H~29F4H2H

284F4 H 1 H~284 5 H1H

E IS R Il I S S S A S I B R I S I SR S S R I S I I S O S

RS IR E GRS E O RS E R SRR E IS E SR SIS OIS RO I SIS CRE SRR ORI SRR I I O I O SO SO O
%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%ﬁ
%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%g)g

RS R G E SRR SRR SRR R R R R E SRR R SR R SRR E SRR SRR CEECEECEECEE O RS E SRR R R R S

OB S S OO I R S I I SR I R I O L I SR SR GO O I SR I o I I B S S IO I G I S I R SR I I I S SRR SO SO

B S S Ol S I S I S I SR I S I I O L SR GO I OO I I SO I S I I OB S SR IO I R I SR R B B SRR I O S

2845} 2 H~284E 5 J] 31 H 0.038
2846 H 1 A~284 6 /30 A *
2847 H 1 H~284E 7 31 H %
2848 ] 1 H~284E 8 J1 31 H %
HETRTE | 284F9 H 1 H~284F 10 H 2 H %
Vo8 | 284810 H 3 H~284£10 H 31 H 0.011
28411 H 1 H~284F 11 H 30 H %
28412 11 H~294 1 A 3 H %
291 H4H~2941H1 31 H %
292 H 1 H~2942 7 28 H %
293 H1H~29%4H2H %
w1 Tk X, IND: BHEHhT) 2F£T,




HANL : mBg/m?

ﬁéﬁf@,ﬁ% ﬁéﬁ?,ﬂﬁ FEﬁ 54Mn 59Fe GOCO %Zr 95Nb 134CS 137CS 144Ce
284E4 1 H~284F 5 H 1 H R * * * * % % %
284E5 2 H~284F 5 H 31 H % % % % % % £ %
2846 1 H~284F 6 7 30 H % % % % % % %k %
28 TH1H~284 7TH31H * * * * * % % *
284E8 1 H~284 8 H 31 H % % % % % % e %
MR | 28429 H 1 H~284E 10 A 2 H * * * * * * * *
FOR/NVER| 28 42 10 A 3 A~284E 10 A 31 A * * * * * * * *
284E 11 1 H~284-11 H 30 H * % * % % % % %
28412 H1 H~294 1 A 3 H * * * * * % % *
291 H4H~2941H 31H % % % % % % 3 *
292 A1 H~2942 A 28 H * * * * % * 3 *
294F 3 H 1 H~29%4H 2 H % % % % % % % *
2844 1H~2885H1H * * * * * % % *
2845 H 2 H~284- 5 H 31 H * % % % % % % *
2846 H 1 H~284- 6 H 30 H % % % % % % % *
28 TH1H~284 7TH31H * * * * * % % *
284F8 H 1 H~284- 8 H 31 H * % % % % % % *
Poolsidi | 2849 1 H~284 10 H 2 H * % * % % % % *
HIBUIINFER| 28 48 10 A 3 A~284E 10 A 31 A * * * * * * * *
28411 A1 H~28411 A 30 H * * * * * % % *
288 12 A1 H~294 1 A 3 H * * * * * % % *
29%F 1 H4 H~29%1H 31 H % % % % % % * *
292 A1 H~2942 A 28 H * * * * % * 3 %
294F3 H 1 H~29%4H 2 H % % % % % % % *

ELD ] %, IND: B Ehs) 2%,
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@ BT HAL : Ba/m’

ﬁéﬁfﬂ)ﬁ% RE&/HB FEﬁ {EIJ ﬁi_’*%% Bl,g 54Mn 59Fe GOCO %Zr 95Nb 134CS ISYCS 144Ce
2842 4H 1R =8 V| % * % % % | 0.14 | %

~28%- 5 H 1H g * * * * * * 0.10 *

284 5 7 2 H o8 * * * * * % | 0.072 | sk

~284E 5 H 31 H g % % * % * % 0. 10 *

284 6 A 1 H JI=X * * * 3 % % 10.099 | %k

~284F 6 A 30 H thg 3 S * * * % 0,090 | 3k

2842 7TH 1H JI=X % * * 3 % % | 0.061 | 3k

~284 7 A 31 H thEg 3 S * * * % | 0.074 | k

284E 8 A 1 H IS * * * * * % 0.12 *

~28 4 8 31 H g % % * % * % 0.11 *

2842 9 A 1 H bk % % * % % % 10.055 | %

EETI T ~284 10 A 2 H G2 * * * * * % 10.056 | >k
g H 284 104 3 H =X % % % % % % % *
~284 10 A 31 A g % % % % * % 0,063 | 3k

2845 11 H 1 H JI=N 2 2 E2 2 % % | 0.058 | sk

~284E 11 H 30 H g 2 2 * 2 E2 * * E2

284 121 1 H bk % % * % % % % %

~294% 1 A 3H E % % % % * % | 0.067 | 3k

2941 H 4 A bk % % * % % % % %

~294 11 31 H E % % % % * % 10.089 | *

2942 H 1 H JI=8 % % % % % * 10.082 | *

~294FE2 H 28 H thEg % 2 % 2 * 10.068| 0.15 E2

2943 H 1 H JI=8 * % % 2 E2 * | 0.18 E2

~294 4 2 A s * * * % % * | 0.13 %

E1D O Tk i, IND: BHENIT) 2583,
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@ [ K BT : mBg/L
ﬁﬂ% T}Téﬂ?ﬂﬁ)ﬁ% ﬁéﬁ‘yﬂgﬂ E @UE%E@ 54Mn 59Fe GOCO 9521‘ 95Nb 134CS 137CS 144Ce 40K2)
nL *P | sk * * * * * * 26
2846 A 6 H hEE * * * * * * * * 29
5=N
2849 H 6 R 1A * * * * * * * % 29
ﬁgﬁﬁ;ﬁﬁm Bl 0w | % | % | % | x| x| x| x| 17
e nL * * * * * * * % *
(j(#“lf&iﬂjzﬂ{ﬁ) 28 QE 12 H 9 E'
E * * * * * * * * 17
2973 4 7 H 1A * * * * * * * % 18
£ E ol ox | % | ok | x| x| x| x| x| 15
7K
284£6 H 6 H E * * * * * * * % 25
s war | 28690 6 H | % * * * * * * * | 18
(LB R P K B VK
H R KE TR A 7K) 2845'5 12 H 9 B EPEE % sk sk sk sk sk sk sk 20
204E3 A 7TH HEE * %k * * * * * * 29
2846 A 6 H HEE * %k * * * * * * 94
R 28491 60 | & % * * * * * * * | 76
H 1 FJIJLn
YRR H
7K 284E 12 9 H HEE * * * * * * * * 85
2043 H 7 H HrEg * * * * * * * * 89
I 2849 H 26 H HEE * * % % %k % % % 163
g
o
WFEID | ggmsmsn | dam | o« | % | % | x| % | % | % | % | 132
2849 H 26 B 1=K * * * * * * * % 131
ﬁfl ﬁ”gggm g | ok | sk | ok | ok | ox | ok | ox | x| 114
7k CGErE 1) 2943 H 8 H JI=% %k %k % %k %k %k %k %k 80
g * * * * * * * * 87
RIS 284F9 H 26 H | Wi * % * * * * * * | 154
Ve
(1) 2943 A 8 H i % % % % % % %k %k 125
==N
F1) o Tk %, IND: &SNS 2F4,
HE2) “Kix, BHAKRMEERE TS S,
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@ tiE HUAL : Ba/kg Wzt

ﬁﬂ% ﬁéﬁ&f@,ﬁ% ﬁéﬁ‘y/ﬁgﬂ E {Euﬁﬁéﬁg 54Mn 59Fe GOCO 9521‘ 95Nb 134CS 137CS 144Ce 40K2)
JI=N *V | % * % % 10.88]10.0| %k | 580
284F 4 H 13 H
R * * %k * %k 1.6 | 9.5 k 570
|28 )| % * % * % | 9.1 ] % |57
284E 7 H 12 H
TV RTIRF TH g * % % * k % [ 9.3 | %k | 560
S 1= 3 % % % % % |10.1| * | 560
284E 10 4 4 H
g * * * * * % | 9.4 | %k | 521
JI28 * * * * * % | 10.1| sk | 600
204E 1 H 6 H
e * * % %k % % | 9.2 | sk | 540
JI28 * % * % % | 1.4 | 6.5 | % | 544
284E 4 H 13 H
rhEE %k * % * % * | 6.6 | % | 538
JL2N % * %k * * 1.0 | 5.4 | % | 531
284 7H 12 H
+ | AERTE g | ok | sk | sk | ok | ok | ok | 6.4 | %k |52
B oA T JI=A * * * * % | 1.8 |10.4| % | 525
0] 28410 A 4 H
HEE k %k % % % | 2.0 |11.8| sk | 487
JL2N k * %k * % |0.71| 4.3 | 3k | 520
204E 1 A6 H
HEE * % * %k %k % | 4.0 | %k | 485
JL2N k * %k * % | 2.0 | 11.8] 3k | 630
284 4 H 12 H
H, * * * * % | 2.8 [13.9] % | 650
JI=N %k %k % %k % | 2.3 [12.1] % | 670
284E 7T H 11 H
Yoz s R * %k % %k % 1.6 | 11.5| ¢ | 630
4 JI=A * * k k * | 2.1 [11.2] * | 670
28410 H 6 H
H, * * * * % | 2.1 [12.0] % | 600
JI=3 % %k % * % | 1.6 [10.0] % | 680
204 1 H 11 H "
HEE k %k % % %k 1.7 1 89 | % | 610

E1D O Tk i, IND: BHENIT) 2523,
E2) YKix, BARHSMEEETH S,
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® JRERED Hif7 : Ba/kg A

ﬁﬂ% ﬁéﬁf@)ﬁ% ﬁéﬁ‘yﬂgﬂ E {EUE%@ 54Mn 59Fe GOCO QBZr 95Nb 134CS 137CS 144Ce 13112) 40K3>
TR T 28410 5 4 B Hoo[ kD] ok | k| ok | sk * % % AT71.7
¥ | Pl R | k| ok | k| ok | k| ok k| ok S 72.0
* S /
ﬁjﬁf; 28410 H 6 | R | k| k| k| k| k| % * | %k |/ |66.5
py2 = /
T RTIR 086 7 19 11 JI=N k | k| k| ok | %k * % e /138.7
“5“\ VTR Eo| ok | ok | ok | k| % % % 3k 71391
R T 2
” 1$'Jm?; 284 TH 12 A | W | k| k| k| k| k| X k| ok |/ 40. 6
| dae O S . . T T T 67.5
S| A F g | ok | ok | ok | % | ok % 0.022] % |7 62. 4
/ﬁ L. ;\4 ’l
1£§IJEH 98412 0 OF | e | k | k| k| k| k| % | % | % /| 66.5
| AEVRTIR 28 % 11 4 28 H o} k | ok | k| k| ok k 10.011| 3k / |58.3
| EE s | ok | sk | ok | k| sk * * k | 7 |56.7
ZIET
o Zm WEEIZA SE| | k| k| k| k| k| % | x| x| |eno
T
R T 08 4 4 1 18 1 [1=) I I B S B % % %k /1 31.2
g B | ok | ok | k| k| sk % %k 3k /29,2
£ s /
g 1[1;11!?; 204 1 H30H | & | *x %k %k % * % 0.011] % /1 41.9
Wz I 00t 2 5 91 1 Hoo| ok | ok | ok | k| k| % * |k |/ [33.1
i 7 H s | ok | ok | ok | x| % % % % |/ 32.8
2| I 284 8 H 29 1 =8 % |k | ok |k | k| % |0.046| *k | .7|130.6
Yo e | ok | ok | k| k| k| % |o.058| % | |126.5
FEN AT T
1;;”“’1”1 0 1A6R | i | x| k| k| % | k| % | % | k| % |561
HED FTIE T I=A % | k| sk | ok | ok * * % | %k |56.7
s " 994 1 H 6 B
S i | k| ok | k| ok | % % 10.020| * | sk |51.8
oo B 20t 1A 111 1=} k | ok | ok | ok | ok * B k | %k |61.6
Y2955 R | sk | ok | ok | sk | ok % 10.024| %k | %k |57.2
T RTIR 085 11 8 1 1=} k | ok | ok | ok | % % [0.015] 3k /133.3
? 7 JE hEE | ok | sk | ok | k| sk % 0.018] /1333
b /
Ao | Bz 28 7 11 A 16 B 1=K k| sk | sk | sk | sk ]0.0071/0.050| sk 35.7
Y2955 | sk | sk | sk | sk | sk [0.012]0.037| % |/ 35.9
ED kg, N gishd) 2%
E2) B OHAIL, Be/L THD,
A3 YKk, B TH D,
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BT : Ba/kg 4

ﬁﬂ% ﬁéﬁfﬂ)ﬁ% ﬁéﬁ‘yﬁgﬂ E {Euﬂaﬂ%&ﬂ 54Mn 59Fe GOCO QSZr 95Nb 134CS 137CS 144Ce 13112) 40K3>
HERTIR T JI=A *V | ok % % % [0.063] 0.32 | 3k 138.9
BIRITE | e 5 8 10 B
%R g | sk | ok | sk | sk | sk [0.057] 0.24 | % 133.0
TENRTIRE T
il 284FE 4 H 28 H| HE | k| k| k| sk | sk % |0.126] 104. 8
=
e | fHETE T
fﬁ 1EH uhm 284E 5 H 6 H | HE | sk | k| sk | sk | %k [0.059] 0.32 | 3k 122.6
ooR
L)) I % | sk | sk | sk | sk 0.027]0.117| * 145. 2
284F 4 H 21 H
a4 B | ok | ok | sk | k| sk % | 0.12 ] % 138
)11 JI=A k| ok | ok | k| sk % 10.120] 126. 6
28 4E 4 H 25 H
JII F g | ok | ok | sk | sk | sk [0.041]0.102]| 131.3
JI=A k | ok | ok | sk | sk % 10.016] % | % | 46.0
284FE 4 H 12 H
g | sk | ok | sk | sk | sk % * % | % | 47.4
JI=A k | ok | ok | sk | sk % * % | % |49.1
284 7TH 7H
551 R | ok | k| k| k| ok % * % | sk | 47.6
et 1=} k | ok | ok | sk | sk % 10.020] % | s |46.3
HH 28410 A 3 H
g | ok | ok | sk | sk | sk * * * | % |46.0
JI=A * | ok | sk | k| sk * * % | sk | 47.5
294£ 1 A5 H
i g | sk | sk | sk | sk | sk % * % | %k | 44.1
L mo | osw |ox | ox [ % | x| % Joo31] x| % |486
284 4 H 13 H
HiEE | sk * * * * % [0.030]| =k * | 46.4
JI=A * | ok | sk | k| sk * * * | sk | 46.9
| 284 7H 6H
1T || ok | k| k| k| ok * * % |k | 46.3
+75 JI=A * | ok | sk | k| sk % 10.033] %k | sk |47.5
L 284£ 10 H 13 H
R | sk | sk | sk | sk | sk % 10.031] %k | sk | 44.2
JI=A k | ok | ok | sk | sk % * % | % | 46.2
294E 1 H 12 H
R | sk | ok | sk | sk | sk % * % | % | 48.4
E1D %) 1% IND: B SRS 2T,
H2) B OB, Bg/L Th A,
H3) YK ix, HARHSRMEEETH 5,
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® HEIEEY

BN : Ba/kg 2

%j‘:*%% ﬁéﬂyi‘m/ﬁ% T}T’éﬂ‘yﬁzﬂ Ei ?EUE*%%E’Q 5/1Mn 59Fe GOCO 9BZr 95Nb 13/1Cs 137CS l/l/lce 1311 40K2)
284E 6 H3 H | & | %V | % * * * [0.048| 0.19 | * % |51.8
284 9HTH | & | % * * * * * 0.31 | =% * |53.0
TR T
LT
284E 12 H 8H | HE | * * * * % [0.060| 0.37 | % * | 71.1
294 3 HT7TH | & | % * * * % [0.038| 0.28 | % * | 61.4
28 7 6 1 3 B 1=K * % * * * [0.029| 0.15 | % % |59.7
E | ok * * * * * 0.12 | = * | 56.2
28 4 9 11 7 B JI=A * * * * % 0.0260.092 | * |63.8
A BTIR T g | ok * * * * % 10.080| % |60.7
LRI 28412 5 8 H I8 % * * * * % 10.100] sk % [ 75.1
A HEE | sk * * * * % 10.092| sk * | 74.0
294 3 57 A JI=A * * * * * [0.022| 0.15 | % * | 75.3
E | ok * * * * * 0.13 | = * [78.6
284E 6 H 3 H AN * * * * * 0.12 | =% % | 55.6
cpe 284 9 HT7TH | HE | % * * * * % 10.089 | sk * | 70.2
I | R
H W -
284E 12 4 8 H | H&E | * * * * * * 0.15 | % |83.6
294E 3 HT7TH | hE | *x % % * * % 0.12 | * | 80.4
28 4 6 11 1 B JI=H * * * * * % 10,092 sk k | 54.4
HEE | sk * * * * % [0.071| =k % |52.7
JI=A * * * * * % 0.050| k| 72.2
VT /N 284 9 H9 H
{Bfl‘;ﬁ hE | ok * * * * * * % * |69.2
Ju
=}
CRHRHLAD) |28 45 12 5 16 1 JI=A * * * * * % 10.030]| % * | 75.0
HiEE | sk * * * * % 10.039| =k * [84.9
294 3 5 9 A JI=A * * * * * % 0.046| % * |78.2
HiEE | sk * * * * % [0.053| =k * [76.6
1D ) %, IND: M &Shd) 2T,

1E2)

YKIE, AT TH D,
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